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This paper contains 70 questions.
Before starting the paper ensure that all questions are in proper sequence.

Blank papers, clipboards, log tables, calculators, mobiles or any electronic device are not allowed.
Before starting the paper, fill up the required details in the blank spaces provided on the OMR sheet.
Do not forget to mention your roll number neatly and clearly in the OMR sheet.
No rough sheets will be provided by the invigilator.

No query related to question paper of any type is to be made to the invigilator.
Onthe OMR sheet darken the appropriate bubble with blue or black ball Pen.

You are not allowed to leave the examination hall before the end of the exam.
. EachQuestion carries 4marks. For each correct response, the students will get 4 marks.
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MATHEMATICS (Q.1 TO Q.25)

Which of the following fraction is the smallest ?

7744
6’9’5’7
7

Tecno’'24
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7 4 4
(1) 5 @y @z @
If m and n are positive integer and m — n is an
even number, then m? — n? will be always divisible

by :
(1) 4 (2) 6
(3) 8 (4) 12

1 2
How many ¢ together make 415 ?
(1) 125 (2) 150
(3) 250 (4) 356

The ratio of two numbers are 10 : 7 and their
difference is 105. The sum of number is :

(1) 595 (2) 805

(3) 1190 (4) 1610

A number consists of two digits such that the digit
in the ten's place is less then 2 by the digit in the

6
units place. Three times the number added to I

times, the number obtained by reversing the digits
equal to 108. The sum of digit in the number is :
(1)8 (2)9
(3)6 (4)7

Class : VIII

2408
MATHEMATICS (Q.1 TO Q.25)

Fr=foRea 9 4 o wad B =g ?

Paper Code |

7 4 4

1) g (2 g ) 5 (4) =

IfE m AT n GAHD OTT 8 3R m — n Yo FH F=A1 & Al
m? - n? g faa gRTAa 8Rf —

(1) 4 (2) 6
(3)8 4) 12
fopa= é frerax 41% g8 ?

(1) 125 (2) 150
(3) 250 (4) 356

S T3l 1 JIgUTd 10 @ 7 TT DT 3R 105 B Al Feaaif
CARIUEE

(1) 595 (2) 805

(3) 1190 (4) 1610

&1 371 I Ueh AT 3 YR & [ SBTS P 37, SIS 3P H 2
HHE | G A I 3R 37T & w1 URTc 3 U7 A B

ggﬁwaﬁmoséaﬁmzﬁdﬁ?ﬁmﬁw%:

(1) 8 (2)9
3)6 (4)7

Y% &1 & forg 5178/ Space For Rough Work
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6. AT.V.and V.C.R together cost Rs. 35000. If cost of | 6.

1
T.V. is 1= times, than V.C.R., then the cost of

2
V.C.R.is:
(1) Rs. 12000 (2) Rs. 14000
(3) Rs. 13000 (4) Rs. 15000

7. By which smallest number should 20184 be | 7.

multiplied so that it become a perfect square ?
(1) 2 (2)3
(3)5 46

8. ABCD is a rhombus. If AB = 10 cm, BD = 16cm, | 8.

Class : VIl

2408
T T.V. T V.C.R SF &1 g e 35000 ®W ¢ | IS

] Paper Code

T.V. 194, V.C.R. & I BT 1% T A V.C.R. 19

g

(1) 12000 &9 (2) 14000 T

(3) 13000 ®UY (4) 15000 ®UY

20184 I fohd =g=Ac™ a1 3 I[oT fovat STy @) qofest s
I8l ?

(1) 2 )3

(3)5 4)6

ABCD U& 9994 2 | IfE AB = 10 %71, BD = 16 ¥/ 2

find AC : Tl AC &1 719 ST BIFTY |
D
C
(1) 6 cm (2) 8 cm (1) 6 ¥
(3) 12 cm (4) 10 cm (3) 12 =1
¥% @13 @ fory 5r71g / Space For Rough Work
2
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10.

11.

12.

*
.

The exterior angles of a quadrilateral are | 9.
(m + 1)°, (2m + 3)°, (4m + 5)° and (Sm + 6)°. Find
measure of each angle :

(1) 30°, 60°, 120°, 150°

(2) 35°, 65°, 110°, 150°

(3) 100°, 65°, 35°, 160°

(4) 29.75°,60.5°, 120°, 149.75°

The lengths of diagonals of a rhombus are 16 cm

Talent Exploring CLC.
National Olympiad 2024

CLC
Tecno’'24 [

and 12 cm, what is the perimeter of rhombus.
(1) 80 cm (2) 40 cm
(3) 64 cm (4) 48 cm

In the given figure, line CE is drawn parallel to | 11.

DB. If #/BAD = 120°, ZABD = 30°, ZADC = 70° and
/BCD = 60°, then /DBC is equal to :

A D E
B C
(1) 55° (2) 80°
(3) 35° (4) 65°
. x? +8x°> +2x + 6x* .
The degree of polynomial ox is: | 12.
(1) 3 (2) 2
(3)4 (4) Does not exist

Class : VIII

10.

2408

IS & 9T DIV (m + 1)°, (2m + 3)°, (4m + 5)° TAl
(5m + 6)° & T TIH DIV BT AT ST DTG —

] Paper Code

(1) 30°, 60°, 120°, 150°

(2) 35°,65°, 110°, 150°

(3) 100°, 65°, 35°, 160°

(4) 29.75°, 60.5°, 120°, 149.75°
G & Aol ol TRl 16 FH =N 12 HI 2 | et
1 GRATT T BT -

(1) 80 =+t (2) 40 =+

(3) 64 =+ (4) 48 =+

I ¥, Y& CE, DB & 9=k &, afd ZBAD = 120°,
ZABD = 30°, ZADC = 70° T «BCD = 60° g, a1 /DBC
TRIERE —

A D E
\ N\
(1) 55° (2) 80°
(3) 35° (4) 65°
2 3 4
X“ +8x° +2x + 6% BEas
2x
(1) 3 (2) 2
(3) 4 OENSESE]

Y% &1 & forg 5178/ Space For Rough Work
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13.

14.

15.

*
*

Ifa+b=10 and a? + b? =58, find the value of
a®+1b°.

(1) 1000

(3) 370

Find the value of

0.79x0.79%x0.79+0.21x0.21x0.21
0.79x0.79-0.79x0.21+0.21x0.21

Talent Exploring CLC
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(2) 420
(4) 1580

(1)1 (2) 0.58
(3) 1.79 (4)1.21
Which of the following is the greatest?
(1) 72 (2) 493/2

1 e 1/4
&) [%j (4) (2401)7

If \/Q—n =1024, then 3[2_4) is equal to :

Class : VIl

13.

14.

15.

2408

gfea+b=10daa?+b%=588da + b BT AF AT B

(1) 1000 (2) 420
(3) 370 (4) 1580

0.79x0.79%x0.79+0.21x0.21x0.21

] Paper Code

0.79x0.79-0.79x0.21+0.21x0.21
T AT ST B —

(1)1 (2) 0.58

(3) 1.79 4)1.21
T ¥ S P A STfIBan § ?

(1) 72 (2) 493/2

1 e 1/4
&) [%j (4) (2401)

af J2r = 1024, 3(2_4) RRE -

16. 16.

(1)3 (2) -3 (1)3 (2) -3

(3) 27 (4) 81 (3) 27 (4) 81

X-y y-x X-y y-xX
17. Ifx=2andy = 4, then (Ej +(Xj is : 17. Hﬁx=26%y=4ﬁ,ﬁ(§] +(Xj 2
y X y X
(1) 4 (2) 8 (1) 4 (2) 8
(3) 12 4 2 (3) 12 4 2
¥% @13 @ fory 5r71g / Space For Rough Work
4
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18.

19.

20.

21.

22.

. |CLC
% Tecno’'24 [ Class : VIII
w11 1 my2 (1"
If 2 X2—m=z,thenﬁ(4 )7+ o) |T 18
1 1 2) 2
(15 @)
3) 4 4L
@) )
Which of the following is perfect square as well as | 19.
cube ?
(1) 81 (2) 125
(3) 343 (4) 64
The least possible value of A for which 90 x Aisa | 20.
perfect cube, is :
(1) 200 (2) 300
(3) 500 (4) 600
f 72.9
S i : 1.
0.4096 is equal to 2
(1) 0.5625 (2) 5.625
(3) 182 (4) 13.6
%/(333)3 +(333)° +(334)> -3x333%x333x334 is | 22.
equal is to :
(1) 12 (2) 117
(3) 10 (4) 15

2408

] Paper Code

1 1 1

-m m\1/2 1Y _
g 2 xz_m=z,3ﬁﬁ[(4 ) +(5_mj ]_

1
(1) 5 (2)2

-1
3)4 @ 5

1 9 A P I e Yofast & \—Ag Ud g 2 2

(1) 81 (2) 125
(3) 343 (4) 64
A &1 =g A f57a fg 90 x A goi e g, B —

(1) 200 (2) 300

(3) 500 (4) 600
72.9

10.4096 TERE:

(1) 0.5625 (2) 5.625

(3) 182 (4) 13.6

%/(333)3 +(333)° +(334)° -3x333x333x334
PRI
(1) 12
3) 10

(2) 11
(4) 15

Y% &1 & forg 5178/ Space For Rough Work

5

A
“eRUTIE "’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A\

y.




23.

24.

25.

*
*

¥
A student was asked to divide a number by 6 and

add 12 to the quotient. He, however first added 12
to the number then divided by 6, getting 112 as

Talent Exploring CLC
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the answer. The correct answer should have been

i1) 124
(3) 118

2) 122
4 114

1 3, 1
If X+;=3, then the value of X +X—3 is :

(1) 27
(3) 18

(2) 36
(4) 81

Ratio of milk and water in certain solution of 75 | 25.

litre is 2 : 1. How much water is to be added in the
solution so that ratio becomes 1 : 2 ?

(1) 75 litre (2) 60 litre

(3) 60 litre (4) 80 litre

Class : VIl

2408

] Paper Code

23. T BIH Pl Gh G&ITH 6 DT W SR ARG H 12 S gt

T | ST ST Ugel 12 STrSdhy fOhs AT | 6 &7 A1 faaT 3R
TR 112 YT G3AT | AT TR 8141 ARG —

(1) 124
(3) 118

(2) 122
4) 114

1
) Irf?{x+l=3,?-ﬁX3+X—3 PBIAFE :
X

(1) 27 (2) 36

(3) 18 (4) 81

75 ofiex e A gg iR u i wTerura 2 : 1 2 | faera #
fore1 o e SITg fos srguTa 1 : 2 BT ?

(1) 75 @rex
(3) 60 iR

(2) 60 ofiex
(4) 80 <fiex

Y% &1 @ forg 5178/ Space For Rough Work
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26.

27.

28.

REASONING (Q.26 TO Q.40)

In a certain code "MOUSE" is written as "PRUQC".
How is "SHIFT" written in the code ?

(1) VKIDR (2) VJIDR

(3) VIKRD (4) RKIVD

In a certain code language "TREASON" is written
as "RKWWINX" and "POULTRY" is written as
"CNXHYKT" . How is "NUMBER" written that code

Tecno’'24
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language?
(1) NIXQQR (2) JAIFAV
(3) RQOXIN (4) VAFIAJ

Identify the diagram that best represents the
relationship among the given classes.
Music Instrument, Piano, Guitar

@ -

(1)

Class : VIII

26.

27.

28.

2408
REASONING (Q.26 TO Q.40)

Ta fAfREd FeH § "MOUSE" &1 "PRUQC" forad 2, 9
"SHIFT" &1 ®TS a1 89 ?

(1) VKIDR (2) VJIDR

(3) VIKRD (4) RKIVD

o faf¥re ore 911 § "TREASON" &1 "RKWWINX" qe1t
"POULTRY" &1 "CNXHYKT" fofRar SITef 2 | 319 39 9191 §
"NUMBER' &1 fordd R forear e ?

l Paper Code

(1) NIXQQR (2) JAIFAV
(3) RQOXIN (4) VAFIAJ
T8 NG G 1 A1) faQ T 1 & e o e b1 Hel FHad o1
PRATE |
argg 94, fagr, fierw

@

Y% @1 P fory T8/ Space For Rough Work
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29.

30.

31.

32.

*
*

y CLC
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Choose the Venn diagram from the given options
which best represents the relationship amongst
the following classes :

Student, Player, Boys

(1) @O @) @
&) @ “@ OO0

[ '

If '+' mean '+, '-' mean 'x', '+' mean '+' and 'x' mean | 30.

'—', then :

36 x12%x4:6+2-3=7?
(2) 18
(4) 29

(1) 42
(3) 40

In the folowing questions, correct the equation by | 31.

interchanging two signs.
6+8:4-4=8
(2) + and +
(4) + and -

(1) + and =
(3) + and -

In the following question, correct the equation by | 32.

interchanging two sings.
4%x3-6:-2+7=8

Class : VIl

2408

] Paper Code

29. AN & Srar AAITe TH=I DI ST Tl I 3R BT T

BN —

faemeff. Ragerrst, cre®

(1) @O 2) @
&) @ “@ OO0

gfe '+ @3l '+, '~ B3l 'x', '+ Bl 37l '+ AT 'x' Bl e
=
36x12x4:6+2-3=7?
(1) 42 (2) 18
(3) 40 (4) 29

frfarRaa 3 9, fgi @1 ST aaerare FHIdR Bl A<
B P
6+8+4-4=8

(1) =TT = (2) = e+

(3) + T - (4) + T -

feriferRad 4 9, Rrgi @1 BIF—H1 deelid AHHROT DI A
B ?

4x3-6+:2+7=8

(1) + and - (2) x and - (1) + T — (2) x T —
(3) + and x (4) x and + (3) = TerT x (4) x T +
¥% @13 @ fory 5r71g / Space For Rough Work
8
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33.

34.

35.

36.

*
.

¥
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What was the day of week on 26" November 2008 | 33.

?
(1) Tuesday (2) Monday

(3) Thursday (4) Wednesday

49" students of a class Nitin gets 18t position form
start. What is the rank of Nitin from end ?

(1) 18 (2) 19

(3) 31 (4) 32

Ais 10% from left and B is 15" from right. When A
and B exchange their position then A become 15%
from the left. What is the new position of B from
right ?

(1) 18

(2) 20

(3) 19

(4) Can't be determined

In a row of boys, if A is 10 from left and B is 9"
from the right and interchange their position. A
becomes 15% from the left. How many boys are
there in the row ?
(1) 23

(3) 28

(2) 27
(4) 31

Class : VIII

34.

35.

36.

2408

26 FTER 2008 DI TTE BT DT fH 87T 2

] Paper Code

(1) FITAR (2) HHaR

(3) gEfcar (4) ggIR

49 faenfil &5 ve wern | e & Reafa e | 18 di g, @
3= & ffem o1 Rerfy gl 2

(1) 18 (2) 19

(3) 31 (4) 32

AR I0TRFMWRIBEAN 154 MRS, TIATB
JATORT ¥ 39T X1 Sl & AT A T RIH ST IR W 15 a7 &
ST &, A1 B &1 &1 3R & =101 Rerfey qamaf 2

(1) 18
(2) 20

(3) 19

(4) =T Tl fepan i Aebell

TSDI DD Ul H, IR A TN AIRT 10 da BERNIRT 9T
QI TR W1 B, AT AU H 3TUT AT dgef- IR A TRIT 3R
15 d TOIT9 UR 31T ST B, 1 Ufad H STl @ e qaiai ?

(1) 23
(3) 28

(2) 27
(4) 31

Y% @1 P fory T8/ Space For Rough Work

9
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37.

38.

39.

40.

*
*

¥

In a row of boys if A is 20" from the left and B is
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16" from the right, interchange their positions,
then A becomes 30™ from left. How many boys are
there in the row ?
(1) 46 (2) 44
(3) 45 (4) 48
In the following questions, select the related word
from the given alternatives.

Kilometre : Metre :: Tonne : ?
(1) Litre (2) Kilogram
(3) Hours (4) Weight
Mohan travelled westward 5 kms., turned left and
travelled 3 kms., turned right and travelled 9 kms.
The he travelled north 3 kms. How far he is from
the starting point ?
(1) S kms (2) 3 kms
(3) 6 kms (4) 14 kms.
Vijay starts from his office and walks 4 km towards
north. Then he turns right and walks 2 km, then
turns right and walks 6 km, then again turns right
and walks 2 km and then turn right and walks

Class : VIl

37.

38.

39.

40.

2408

TSDHT DI T Ufddd H, Tfe A BT eI § ) IR | 20 I7 M1 B 61
RIF AR 16 a1 8, 31U AT MU H Gt IR, Td A Bl
I 911 TR ¥ 30 a1 81 ST &, T Ufdd H oS dl gyl e
qaei ?

(1) 46 (2) 44

(3) 45 (4) 48

frforRaa ve 4 g 71y faeed 4 9 |afdd o o1 g

] Paper Code

feetdfice: Hlev:: e7: ?
(1) ¥R (2) forarm
(3) & (4) IR
Ae ufed @1 3R 5 faH1. A1 - 8, SR A o 3 foreft
D1 I B 2 3R R I e 9 fei o I e & | Ta a8
IR DI 3R 3 fHHl BT AT HRAT 2 | 374 T8 IRM™D g 4

frai R Rerd g ?
(1) 5 ot (2) 3 for
(3) 6 fepstt (4) 14 fod

oo 31u+t HTRITETT & T UIR™ BT & 3R SR D1 IR 4
fopeil. ST 2 | fohR a8 <14 Jear @ 3iR 2 fosd e &, fhe a1
gShR 6 febHl STl & b g1: &8 ol 2 MR 2 fopdl Sirefn 2 3R
TR ST gl © 31K 2 ol ST 2 | 379 I8 TR X0 4 fobeit

2 km. How far is he now from the starting point ? ?ﬁﬁﬁ% ?
(1) 0 km (2) 6 km (1) O fo#it (2) 6 fopet
(3) 12 km (4) 16 km (3) 12 o (4) 16 fos
¥% @13 @ fory 5r71g / Space For Rough Work
10
o) Y,
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41. Which statement is not true for a force : 41. P A I, fEf 9o o foru A i g —
(1) May change the speed of object (1) a?@zﬁ%maﬁtrﬁ-crﬁ‘raawmé
(2) May change the direction of object (2) I ! feen a1 aRafda s awar g
(3) May change the shape of an object (3) a?ﬁiﬁeﬂ'ﬁm_\’ a1 gRafdd e Ao g
(4) All are true @) TiaaT
42. The strength of force is expressed by ? 42, & 91 O Yeld e o1 oiTch & ?
(1) Weight (2) Mass (1) 9 gt (2) SgH T gINT
(3) Magnitude (4) Longitudinal force (3) uRHETIT EIRT (4) TR TA G
43. If a rocket has been fired upwards to launch a | 43. IR YD Jac DI STUE DI el H AT B & forg meifa fvan
satellite in its orbit. Name the force acting on the ST 2 | e §RTUEYUT weTed ﬁ@@ﬁﬁwwmwm
rocket immediately after leaving the launching -
pad.
(1) Gravitational force (1) Toa a
(2) Upthrust (2) SIR B ;AR YOG g
(3) Both (1) & (2) (3) aHI (1) T2 (2)
(4) Buoyant Force (4) IATIT It
44. Which of the following is the least ? 44, =189 DA A YA B8 ?
(1) Static friction (1) &f® dor
(2) Sliding friciton (2) di Eryor
(3) Rolling friction (3) dAre=n Ty
(4) Limiting friction (4) =T Yo
45. The easiest way to move a heavy wooden block is | 45. wwmzﬁaﬁwaﬁéaﬁww TIPIE :
to:
(1) Place it on a trolly (1) T& Slell IR @
(2) tie a rope at one end and pull (2) U RN & Uoh R A g Fia1
(3) push it (3) g
(4) None of these (4) STH A BIS TR

Y% &1 B o1y T8/ Space For Rough Work
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46.

47.

*
*

An image which cannot be obtained on screen is
called :

(1) Virtual (2) Real

(3) Both (1) & (2) (4) None

The far point of a myopic person is 80 cm, in front

Talent Exploring CLC
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of the eye. What is the power and kind of lens
required to correct the defect :
(1) +1.5D, convex lens  (2) -1.5 D, convex lens

(3) +1.25D, concave lens (4) -1.25 D, concave lens

Class : VIl

46.

47.

2408
U nfafaw RO U U= T =181 foha i1 Al &, haarl &

] Paper Code

(1) 3t (2) arefas

(3) @ (1) T (2) (4) T A BIE T

e faegfic qv | OIfsd afad &1 R =g s & dm=
80 cm I IR T | SA Y & I @ oY 3TawIe ofd BT UdhR
T @) Ffag 8l
(1) +1.5D, ITA I
(3) +1.25D, 3FaTd oi|

(2) -1.5 D, ST o9
(4)-1.25 D, 3radd i

48. The main mode of heat transfer in water is known | 48. el &I HeRY o g AT B2 :
as:
(1) conduction (1) =mer
(2) radiation (2) fafdor
(3) convection (3) ae
(4) solution (4) faera=
49. The range of the temperature reading of clinical = 49. fifercTaTd YA & YeTo B IR BT & P
thermometer ?
(1) 35°C —42°C (1) 35°C —42°C
(2) 32°C -42°C (2) 32°C -42°C
(3) 0°C - 100°C (3) 0°C - 100°C
(4)-10°C-110°C (4)-10°C-110°C
50. Distance between consecutive crust and trough | 50. &IHAR IR ITd S AT B BN T :
in a wave : (A is wavelength) (TR )
(1)a 2)r/2 (1)a 2)r/2
B)r/4 (4) 21 B)r/4 (4) 21
¥% @13 @ fory 5r71g / Space For Rough Work
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51.

52.

53.

54.
55.

56.

CHEMISTRY (Q.51 TO Q.60)

A substance which cannot be broken drown further

Tecno’'24
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by chemical reaction by cooling heating or by
electrolysis is called :
(1) NaCl

(3) Element

Which gas produces when metal react with acid :
(2) Oxygen

(4) Hydrogen

(2) Mixture
(4) Compound

(1) carbon dioxide
(3) Nitrogen

The correct order of increasing chemical reactivity
is :

(1) Zn < Fe < Mg <K

(2) Fe<Mg<Zn <K

(3) Fe<Mg<K<Zn

(4) Fe <Zn < Mg <K

Goldsmiths used the .......... zone of a flame with a
metallic blow—pipe for melting gold and silver :

(1) innermost (2) outermost

(3) middle (4) Al

Which of the following units expresses fuel
efficiency in terms of calorific value :

(1) kg/KJ (2) KJ/kg

(3) J/kg 4)J/g

Bruning of charcoal in a closed room will produce :
(1) Carbon di-oxide
(3) CO, + SO,

(2) Carbon mono-oxide
(4) CO, + NO,,

Class : VIII

51.

52.

53.

54.

55.

2408
CHEMISTRY (Q.51 TO Q.60)

fory Tt e1f¥rfran 9 T ae, Susl BRa fagd sruEeH
ERUSISISEISISCRIE

l Paper Code

(1) NaCl (2) fsror
(3) da (4) AT
&7 D1 37 H SAMAHIT B TR B 199 o Bl 2

(1) carbon dioxide (2) Oxygen

(3) Nitrogen (4) Hydrogen

ST fehaTeield &1 9 gen S A T

(1) Zn < Fe<Mg <K

(2) Fe <Mg<Zn <K

(3) Fe < Mg <K <Zn

(4) Fe <Zn < Mg <K

SATD ... BT ITAN FAR A AR 77e) Bl fraam &
DA —

(1) 3R &3 (2) It &

(3) AeuaH (4) =ft

A4 Y PSS SUF ST D DA JIH DI AT 2 |

(1) kg/KJ (2) KJ/kg

(3) J/kg 4 J/g
Cbluc*IE?ﬁEi—Q’d)H‘dﬁ\ﬂollﬂtl?dcqﬂ_ﬁﬁT‘ﬁ%l

(1) BT SE—aifaaTSS (2) BT A ST TATS S
(3) CO, + S0, (4) CO, + NO,,
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57.

58.

59.

60.

*
*

¥

Choose the correct statement :
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(1) Density of coal is less than coke

(2) Density of coal is more than coke

(3) Density of coal is equal to coke

(4) Density of coal is zero

Petroleum is found under the :

(1) Sedimentary rocks

(2) Ignesious rocks

(3) Metamorphic rocks

(4) Limestone rocks

Which of the following is not a green house gas :
(1) Carbon dioxide

(2) Nitrogen

(3) Methane

(4) Nitrous oxide

Which of the following is a non-biodergradable
pollutant :

(1) Sulphurdioxide

(2) DDT

(3) Nitrogen oxide

(4) Hydrogen oxide

Class : VIl

57.

58.

59.

60.

2408

] Paper Code

frfaRad 3 | 981 H+ o1 799 DIy —
(1) Coal &1 &cd Coke ¥ HH I © |
(2) Coal &1 8cd Coke ¥ 1fdeh BT 2 |
(3) Coal &1 & Coke & SRR BT |
(4) Coal BT TT@ T EIAL |

UgIferad ueTef Bl geemi | e 2 :
(1) sraErEl gee™

(2) AT T

(3) BrTIRd g™

(4) T IR Bl TS

=1 4 9 A1 199 R U8 vTg T8 g ©
(1) BPreTSERITRISS

(2) ARE

(3) #A

(4) TTEZA3TTES

T 5 | DI Ugu e oid SIfFiavor & -

(1) ToBRSTRATRITSS
(2) DDT

OBIEESEEIENIES
O EESRREIESIES
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61.

62.

63.

64.

65.

*
.

BIOLOGY (Q.61 TO Q.70)

Which crop requires dry and cold environment ?
(1) Rabi (2) Kharif

(3) Zayad (4) All of above

Rani had an uneven plot of land in which water

Tecno’'24
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was scarce. What system could she adopt for
irrigation ?

(1) Sprinkler system (2) Canal irrigation
(3) Fertigation (4) Hand pump

In a classroom discussion, three students made
the following statements.

Shika : Fertilizers are chemical substances that
are rich in a particular nutrient.

Ritesh : Fertilizers increase the water holding
capacity of the soil.

Abhishek : Fertilizers used in excess provide lots
of humus to the soil.

Which student(s) made incorrect statement (s) ?
(1) Shikha & Ritesh (2) Ritesh & Abhishek
(3) Abhishek & Shikha (4) Shikha Only

The walls of veins are not thick as those of arteries
because ?

(1) The blood is in less quantity

(2) The blood is under low pressure

(3) The blood is thicker

(4) The blood is deoxygenated

Which of the following causes hot weather wilting
in plants ?

(1) Excessive transpiration and reduced absorption
(2) Excessive transpiration & absorption

(3) Reduced transpiration & absorption

(4) Reduced transpiration and excessive absorption

Class : VIII

61

62.

63.

64.

65.

2408

ol weiet D1 Y Yd SUS TR Bl SIS Bl & ?

(1) & (2) TRI%

(3) SIIE (4) IuRTaT 4T

R & U U Srde—1aS (3T i 2 ForaH i a1 it
oY | RiaTE & foTy a8 o rH—<f1 Jorme) 7o SHavel & 2

l Paper Code

(1) BRI IR (2) e Rfarg
(3) Bf&em (4) Teu
UG Sl gl § i 8131 F frfalRad wem fag —

Rt : 3dve A uered 2 € 9 U favy aive ae o
WREAE |
e : IRS A & STAIRT &9 BT IgId T

AP ; 31 AT H SRD! BT ITANT, S ol 31 g
Y IRATE |

fora—ford o= 7 Tord @2 e ?

(1) fRrar iR Rawr (2) Rarer iR e1fvas

(3) 1fu 3iR R (4) Dadt Rran

I3t &1 Ry et & R 7 781 2reh aifes 2

(1) SRR PAAEH B R |

(2) FRRSE AL |

(3) SRR EAL |

(4) SRR RIS IRBA AL |

foraforfRad # 3 fordas BT T Hw 7 d1g RN B 2

(1) 3T ITeTCAST 3R 3Fa2yor H B |
(2) 3rafde areTeoI 3iR T2y |

(3) AT SR STy § A |

(4) ITETTST H BHI TR AT FTOT
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66.

67.

68.

69.

70.

*
*

¥

Which of the following statements are true.
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i. Pulmonary artery carries blood from the heart
it is called an artery and not a vein.
ii. It carries carbon dioxide rich blood to the lungs.
iii. Pulmonary vein carries oxygen rich blood from
the lungs to the heart.
(1) i and ii
(2) ii and iii
(3) i and iii
(4) All the statements are true
is the method of reproduction in human
beings :
(1) Conjugation (2) Binary fission
(3) Endospore formation (4) Sexual reproduction
The process of series of changes from larva to adult
after embryonic development is called :
(1) Growth
(3) Regeneration

(2) Ageing

(4) Metamorphosis
Which of the following disease is caused by bacteria
?

(1) Tuberculosis (2) Hepatitis B

(3) Malaria (4) Polio

Which of the following substance is produced by
an organism to prevent or reduce the spread of
microorganisms ?
(1) Antiseptics

(3) Antibodies

(2) Antibiotics
(4) All of these

Class : VIl
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69.
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fefafad A QP HUT AT B ?

i, URHY gH U X of Ol & 9 FH1 el SITell & 7
e forT |

ii. I8 PraTeSaiaarss ad & Bl hhs| AP Ugani ¢ |

iii. HHEUR RRT eI 1d Yo ol bihel 9§ g&d T of Sicll
gl

(1) i @ i

(2) ii T ii

(3) 1 T iii

(4) TN PAT AT |

LR KR SEE AR S

(1) g7 (2) fafagves

(3) 31d1: drre] AT (4) <iffre uot=

o1 & aRaed= & a1e Ardl H gD H UREi &1 Tl Pl Hal
ST

(1) gf& (2) STrefar
(3)H?REHTH (4)EFI'€I1*_(‘R'UT
fAfeRad 3 | S=a1 AT SiaTy] gRI BT & ?
(1) Tufes (2) TUerEfecd—B
(3) FaifRan (4) arferar

FRAforRed 3 | @I+ |1 Ut fhdl ST gR1g&sial & AR P
R AT HH B & foTg Seurfed fpar S g ?

(1) RTTIRIETS
(3) uforen

(2) uferifam
(4) SIRIaT
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CASH AWARDS 22400 ufafiral & fic gffgd [EaR...

& SCHOLARSHIPS 31@RA & Zonal Cash Prizes & fde CLC & yawI &t ifAarfar 71 8 safe
1.21 65 & Mega Cash Prizes 31R 31 6315 @t Scholarships & fe€ CLC Classroom Courses B W2l &1 31fAart 21

Zonal Cash Award & Special Reward*

ZRL Each Class

1 Cash Prize of 3000 + Memento + Certificate + Student Kit

2to3 Cash Prize of 2000 + Memento + Certificate + Student Kit

4tol0 Cash Prize of 1000 + Memento + Certificate + Student Kit B
11to 50 Memento + Certificate + Student Kit ;é
51t0100 Memento + Certificate E

‘RL

Rest Participants : Certificate

*Cash awards will be given after tax deduction as per Govt. Norms.
Your Zonal Rank will be mentioned in the marksheet along with your Common Rank List

1. Date & Venue for Zonal Tecno'24 Fest will be announced at the time of result declaration
2. CLC Reserves the Right for extension of Exam Zone.

Mega Cash Awards*

Class 7 Class 8 Class 9 Class 10 Class 1l Class 12

CRL Class 5 Class 6
1 75000 75000 75000 100000 100000 200000 75000 75000
2to5 35000 35000 35000 50000 50000 100000 35000 35000

6tol0 20000 20000 20000 35000 35000 50000 20000 20000
11to 20 10000 10000 10000 20000 20000 35000 10000 10000

21 to 100 5000 5000 5000 10000 10000 20000 5000 5000
101to0 150 3000 3000 3000 5000 5000 10000 3000 3000
151 to 200 NA NA NA 3000 3000 5000 NA NA
201 to 250 NA NA NA NA NA 3000 NA NA

*Cash awards will be given after tax deduction as per Govt. Norms. CRL = Common Rank List

Why Tecno... Why CLC ?

22400 31 <:l.21 ?31

ZONAL
REWARDS CRORE CRORE

PREMIUM TUITION FEE MEGA CASH ZONAL CASH
PRIVILEGES SCHOLARSHIP PRIZES PRIZES
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Sikar & Alwar
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